

ALMOST CONTACT METRIC STRUCTURES ON
HYPERSURFACES OF ALMOST HERMITIAN MANIFOLDS

Abu-Saleem Ahmad¹§, Lidia Stepanova², Galina A. Banaru³

¹Department of Mathematics

Al Al-Bayt University

P.O. Box 130095, Marfaq, JORDAN

e-mail: dr_ahmad57@yahoo.com

²Department of Physics and Mathematics

Military Academy of Aircraft Defense

2, Kotovsky Str., Smolensk, 214027, RUSSIA

e-mail: lide@yandex.ru

³Department of Physics and Mathematics

Smolensk State Pedagogical University

4, Przhevalski Str., Smolensk, 214000, RUSSIA

e-mail: banaru@keytown.com

Abstract: The Cartan structural equations of an arbitrary almost contact metric structure induced on an oriented hypersurface of an almost Hermitian manifold are obtained.

AMS Subject Classification: 53C40

Key Words: almost Hermitian manifold, almost contact metric manifold, hypersurface

1. Introduction

The theory of almost contact metric structures occupies one of the leading places in modern differential-geometrical researches. It is due to a number of its applications in mathematical physics (for example, in classical mechanics [1] and in theory of geometrical quantization [8]). Furthermore, we mark out the riches of the internal contents of the theory of almost contact metric structures

Received: July 19, 2007

© 2007, Academic Publications Ltd.

§Correspondence author

as well as the close connection of this theory with other sections of geometry, see [11, 16].

We recall that an almost contact metric structure on an odd-dimensional manifold N is defined by the system of tensor fields $\{\Phi, \xi, \eta, g\}$ on this manifold, where ξ is a vector, η is a covector, Φ is a tensor of the type $(1,1)$ and $g = \langle \cdot, \cdot \rangle$ is the Riemannian metric [6]. Moreover, the following conditions are fulfilled:

$$\eta(\xi) = 1, \quad \Phi(\xi) = 0, \quad \eta \circ \Phi = 0, \quad \Phi^2 = -id + \xi \otimes \eta,$$

$$\langle \Phi X, \Phi Y \rangle = \langle X, Y \rangle - \eta(X)\eta(Y), \quad X, Y \in \mathfrak{N}(N),$$

where $\mathfrak{N}(N)$ is the module of smooth vector fields on N . As an example of an almost contact metric structure we can consider the cosymplectic structure [3, 4, 6, 10], that is characterized by the following condition:

$$\nabla \eta = 0, \quad \nabla \Phi = 0,$$

where ∇ is the Levi-Civita connection of the metric. It has been proved that the manifold, admitting the cosymplectic structure, is locally equivalent to a product $M \times R$, where M is a Kählerian manifold, see [11].

The almost contact metric structures are closely connected to the almost Hermitian structures. For instance, if $(N, \{\Phi, \xi, \eta, g\})$ is an almost contact metric manifold, then an almost Hermitian structure is induced on the product $N \times R$, see [10]. If this almost Hermitian structure is integrable, then the input almost contact metric structure is called normal. As it is known, a normal contact metric structure is called Sasakian, see [6]. On the other hand, we can characterize the Sasakian structure by the following condition:

$$\nabla_X(\Phi)Y = \langle X, Y \rangle \xi - \eta(Y)X, \quad X, Y \in \mathfrak{N}(N). \quad (1)$$

For example, Sasakian structures are induced on totally umbilical hypersurfaces in a Kählerian manifold, see [5, 6]. As it is well known, the Sasakian structures have many remarkable properties and play a fundamental role in contact geometry.

In 1972 Katsuei Kenmotsu has introduced a new class of almost contact metric structures [9], defined by the condition

$$\nabla_X(\Phi)Y = \langle \Phi X, Y \rangle \xi - \eta(Y)\Phi X, \quad X, Y \in \mathfrak{N}(N). \quad (2)$$

The Kenmotsu manifolds are normal and integrable, but they are not contact, consequently, they can not be Sasakian. In spite of the fact that the conditions (1) and (2) are similar, the properties of Kenmotsu manifolds are to some extent antipodal to the Sasakian manifolds properties, see [10]. Note

that the new investigation [10] in this field contains a detailed description of Kenmotsu manifolds as well as a collection of examples of such manifolds.

2. Preliminaries

We consider an almost Hermitian manifold, i.e. a $2n$ -dimensional manifold $(M^{2n}, J, g = \langle \cdot, \cdot \rangle)$, having a Riemannian metric $g = \langle \cdot, \cdot \rangle$ and an almost complex structure J . Besides the following condition must hold

$$\langle JX, JY \rangle = \langle X, Y \rangle, \quad \forall X, Y \in \mathfrak{X}(M^{2n}),$$

where $\mathfrak{X}(M)$ is the module of smooth vector fields on M^{2n} , see [7]. All manifolds, tensor fields and similar objects are assumed to be of the class C^∞ .

Let $N \subset M^{2n}$ be an oriented hypersurface of the considered almost Hermitian manifold. We denote as $\mathfrak{X}_N(M)$ the reduction of the module of vector fields $\mathfrak{X}(M)$ onto N :

$$\mathfrak{X}_N(M) = \bigcup_{p \in N} T_p(M).$$

It is evident that

$$\mathfrak{X}(N) \subset \mathfrak{X}_N(M).$$

Let $\mathfrak{X}^\perp(N)$ be the orthogonal supplement of $\mathfrak{X}(N)$ in $\mathfrak{X}_N(M)$. Obviously, $\mathfrak{X}^\perp(N)$ is a one-dimensional submodule of $\mathfrak{X}_N(M)$. If $p \in N$ is an arbitrary point, then

$$T_p^\perp(N) = \{X \in T_p(M) \mid \langle X, Y \rangle = 0; Y \in T_p(N)\}, \quad \dim(T_p^\perp(N)) = 1.$$

Consequently, the unit vector at the point p

$$n_0 \in T_p(M)$$

can be considered as a basis of $T_p^\perp(N)$, and that is why

$$\{(n_0)_p \mid p \in N\} \in \mathfrak{X}_N(M)$$

is a basis of $\mathfrak{X}^\perp(N)$.

Introducing the notation $\xi = J(n_0)$, we have $\xi \in \mathfrak{X}(N)$, thus

$$\langle \xi, n_0 \rangle = \langle J(n_0), n_0 \rangle = -\Omega(n_0, n_0) = 0,$$

so $\xi \perp n_0$, and according to [16], $\xi \in \mathfrak{X}(N)$.

Let us denote:

$$\eta \in \mathfrak{X}_N^*(M), \quad \eta(X) = \langle \xi, X \rangle \quad \text{and} \quad \zeta \in \mathfrak{X}_N^*(M), \quad \zeta(X) = \langle n_0, X \rangle.$$

Then we obtain:

$$\eta(X) = \langle \xi, X \rangle = \langle J(n_0), X \rangle = -\langle n_0, JX \rangle = -\zeta \circ J(X),$$

i.e. $\eta = -\zeta \circ J$. So, there are some projectors in the module of vector fields $\mathfrak{N}_N(M)$. Namely:

$\bar{n}_1 = \zeta \otimes n_0$ is the projector onto normal vector;

$\Pi_1 = id - \bar{n}_1$ is the projector onto submodule $\mathfrak{N}(N)$;

$\bar{n}_2 = \eta \otimes \xi$;

$\Pi_2 = id - \bar{n}_2$.

Let us denote $\text{Im}(\bar{n}_2) = \Psi$. Then we can consider some new projectors:

$$\bar{n}_3 = \bar{n}_1 + \bar{n}_2;$$

$$\Pi_3 = id - \bar{n}_3.$$

Remark that the images of the projectors \bar{n}_3 and Π_3 are orthogonal, and that is why

$$\mathfrak{N}_N(M) = \text{Im}(n_3) + \text{Im}(\Pi_3).$$

Let us denote $(\Pi_3) = \Lambda$. We get that

$$\Psi = \Lambda(\xi) \subset \mathfrak{N}(N),$$

where $\mathfrak{N}(N) = \Lambda \oplus \Psi$ is a direct orthogonal sum. In fact,

$$\begin{aligned} \mathfrak{N}_N(M) &= \text{Im}(n_3) + \text{Im}(\Pi_3) = \Lambda \oplus \Lambda(\xi, n_0) = \Lambda \oplus \Lambda(\xi) \oplus \Lambda(n_0) \\ &= \Lambda \oplus \Psi \oplus \Lambda(n_0), \end{aligned}$$

so

$$\Lambda \oplus \Psi = \Lambda^\perp(n_0) = \mathfrak{N}(N).$$

Taking into account that $\Lambda(\xi, n_0)$ is invariant with respect to J , we can conclude that the orthogonal supplement Λ is also invariant with respect to J . We determine the endomorphism Φ of the module $\mathfrak{N}_N(M)$ by the following formula:

$$\Phi = J \circ \Pi_3.$$

As it is evident, if Λ and Ψ are invariant with respect to J and Π_3 , then this objects are invariant with respect to Φ .

By direct computing of $\Phi^2(X)$, $X \in \mathfrak{N}_N(M)$, we get:

$$\Phi^2 = -id + \zeta \otimes n_0 + \eta \otimes \xi.$$

In particular, if $X \in \mathfrak{N}(N)$, then

$$\zeta(X) = \langle n_0, X \rangle = 0.$$

So,

$$\Phi^2(X) = -X + \eta(X)\xi, X \in \mathfrak{N}(N).$$

We have obtained that the operator Φ on $\mathfrak{N}(N)$ complies with the following condition:

$$\Phi^2 = -id + \eta \otimes \xi.$$

As a result we have that the following tensors are defined on $\mathfrak{N}(N)$:

$$\xi, \eta, \Phi, g,$$

where

$$\xi = J(n_0), \eta(X) = \langle \xi, X \rangle, \Phi = J \circ \Pi_3 |_{\mathfrak{N}(N)}, g = \langle \cdot, \cdot \rangle |_{\mathfrak{N}(N)}.$$

Moreover, some conditions are fulfilled:

- 1) $\eta(\xi) = \langle \xi, \xi \rangle = 1$;
- 2) $\eta \circ \Phi = \eta \circ J \circ \Pi_3 |_{\mathfrak{N}(N)} = 0$;
- 3) $\Phi(\xi) = 0$;
- 4) $\Phi^2 = -id + \eta \otimes \xi$;
- 5) $\langle \Phi X, \Phi Y \rangle = \langle X, Y \rangle - \eta(X)\eta(Y), X, Y \in \mathfrak{N}(N)$.

So, we have prove the following statement.

Proposition. *An almost contact metric structure is induced on arbitrary oriented hypersurface of an almost Hermitian manifold.*

This fact was established by S. Sasaki [15] in another way.

3. The Main Result

Now, we can obtain the Cartan structural equations of an arbitrary almost contact metric structure induced on a hypersurface N in an almost Hermitian manifold.

We fix a point $p \in N$ and construct two basses of $T_p^C(M)$, where $T_p^C(M)$ is a complexification of tangent space of M at the point p :

$$b_1 = (\varepsilon_a, \varepsilon_{\hat{b}}, \varepsilon_n, \varepsilon_{\hat{n}}); b_2 = (\varepsilon_a, \varepsilon_{\hat{b}}, e_n, e_{\hat{n}}).$$

As $e_{\hat{n}}$ we denote the normal vector of N ,

$$e_n = J(e_{\hat{n}}) = \xi_p, a, b, c, d = 1, \dots, n - 1; \hat{a} = a + n; \hat{n} = 2n.$$

If $(e_1, \dots, e_n, Je_1, \dots, Je_n)$ is an orthonormal basis of $T_p^C(M)$ adapted to

the complex structure J , then

$$\begin{aligned} \varepsilon_a &= \frac{e_a - iJe_a}{\sqrt{2}}; \quad \varepsilon_{\hat{a}} = \frac{e_a + iJe_a}{\sqrt{2}}; \\ \varepsilon_n &= \frac{e_n - iJe_n}{\sqrt{2}}; \quad \varepsilon_{\hat{n}} = \frac{e_n + iJe_n}{\sqrt{2}}. \end{aligned}$$

The transition matrix from b_2 to b_1 is the following:

$$(C) = \left(\begin{array}{c|cc} I_{2n-2} & & 0 \\ \hline & \frac{1}{\sqrt{2}} & \frac{i}{\sqrt{2}} \\ 0 & \frac{-i}{\sqrt{2}} & \frac{1}{\sqrt{2}} \end{array} \right),$$

where I_{2n-2} is the $(2n - 2)$ -order unit matrix. So, we can deduce the inverse matrix:

$$(C^{-1}) = \left(\begin{array}{c|cc} I_{2n-2} & & 0 \\ \hline & \frac{1}{\sqrt{2}} & \frac{i}{\sqrt{2}} \\ 0 & \frac{1}{\sqrt{2}} & \frac{-i}{\sqrt{2}} \end{array} \right).$$

As (ω^i) and (θ^j) we denote the bases dual to b_2 and b_1 , respectively; $i, j = 1, \dots, 2n$. We have:

$$\omega^i = \tilde{C}_j^i \theta^j,$$

where $(\tilde{C}_j^i) = C^{-1}$. That is why we get:

$$\omega^\gamma = \theta^\gamma; \quad \omega^n = \frac{1}{\sqrt{2}}(\theta^n + i\theta^{\hat{n}}); \quad \omega_n = \frac{1}{\sqrt{2}}(\theta^n - i\theta^{\hat{n}}),$$

where $\omega_n = \omega^{\hat{n}}$, $\gamma, \kappa = 1, \dots, n - 1, n + 1, \dots, 2n - 1$.

Let us deduce the formula for θ^j :

$$\theta^\gamma = \omega^\gamma; \quad \theta^n = \frac{1}{\sqrt{2}}(\omega^n + \omega_n); \quad \theta^{\hat{n}} = \frac{1}{\sqrt{2}}(\omega^n - \omega_n).$$

The frames of the type (p, b_1) as well as of the type (p, b_2) , $p \in N$ form the space of G -structure $\Upsilon_m, (m = 1, 2)$ with the structural group $G = U(n - 1) \times \{e\}$.

The structural equations of the Riemannian connection ∇ on the spaces Υ_1 and Υ_2 of the structure are the following, respectively:

$$d\omega^i = \omega_j^i \wedge \omega^j; \quad d\theta^i = \theta_j^i \wedge \theta^j,$$

where $\{\omega_j^i\}$ and $\{\theta_j^i\}$ are the Riemannian connection forms on the corresponding space of the G -structure.

If $\theta^i = C_j^i \omega^j$, then:

$$d\omega^k = (\tilde{C}_i^r \theta_j^i C_r^k) \wedge \omega^k.$$

From this relationship we have:

$$(\omega_j^i - \tilde{C}_k^i \theta_r^k C_j^r) \wedge \omega^j = 0.$$

Using the Cartan Lemma, we obtain:

$$\omega_j^i = \tilde{C}_k^i \theta_r^k C_j^r + C_{jk}^i \omega^k,$$

where $C_{j k}^i = C_{k j}^i$.

Taking into account that we consider the Riemannian connection [12], we can use that $\nabla g = 0$ (here $g = \{g_{ij}\}$ is the metric tensor). Let us write down the condition $\nabla g = 0$ in the bases b_1 and b_2 :

$$1) \quad d\tilde{g}_{ij} + \tilde{g}_{kj} \omega_i^k + \tilde{g}_{ik} \omega_j^k = 0;$$

$$2) \quad dg_{ij} + g_{kj} \theta_i^k + g_{ik} \theta_j^k = 0.$$

Here $\{\tilde{g}_{kj}\}$ and $\{g_{kj}\}$ are the components of g in the bases b_1 and b_2 , respectively. Taking into account

$$\tilde{g}_{ij} = g_{rs} C_i^r C_j^s,$$

we have:

$$g_{rs} C_k^r C_j^s \omega_i^k + g_{rs} C_i^r C_k^s \omega_j^k = 0,$$

or

$$g_{ms} C_j^s \theta_p^m C_i^p + g_{rm} C_i^r \theta_p^m C_j^p + (\tilde{g}_{kj} C_{il}^k + \tilde{g}_{ik} C_{jl}^k) \omega^l = 0.$$

But according to [3],

$$g_{ms} \theta_p^m = -g_{pm} \theta_s^m,$$

and that is why we can conclude:

$$(\tilde{g}_{kj} C_{il}^k + \tilde{g}_{ik} C_{jl}^k) \omega^l = 0.$$

Taking into account the basis forms ω^l are linearly independent, we get:

$$\tilde{g}_{kj} C_{il}^k + \tilde{g}_{ik} C_{jl}^k = 0.$$

Using the permutation $i \rightarrow j \rightarrow l \rightarrow i$, we obtain:

$$\tilde{g}_{kj} C_{il}^k = 0.$$

As the metric tensor $\{\tilde{g}_{kj}\}$ is not degenerated, we have:

$$C_{il}^k = 0.$$

As a result we can conclude that

$$\omega_j^i = \tilde{C}_k^i \theta_r^k C_j^r,$$

or

$$\theta_j^i = C_k^i \omega_r^k \tilde{C}_j^r.$$

On the space of the G -structure Υ_2 , the hypersurface $N^{2n-1} \subset M^{2n}$ is determined by the following Pfaffian system [16]:

$$\theta^{\hat{n}} = 0.$$

By the exterior differentiation of this relationship we get:

$$\theta^{\hat{n}}_{\bar{\alpha}} \wedge \theta^{\bar{\alpha}} = 0, \quad \bar{\alpha}, \bar{\beta} = 1, \dots, 2n-1.$$

According to the Cartan Lemma [12], we obtain:

$$\theta^{\hat{n}}_{\bar{\alpha}} = \sigma_{\bar{\alpha}\bar{\beta}} \theta^{\bar{\beta}},$$

where $\sigma_{\bar{\alpha}\bar{\beta}} = \sigma_{\bar{\beta}\bar{\alpha}}$ (here $\{\sigma_{\bar{\alpha}\bar{\beta}}\}$ are the components of the second fundamental form of the immersion of N into M).

Then we can write down the following condition:

$$C_i^{\hat{n}} \omega_j^i \tilde{C}_{\bar{\alpha}}^j = \sigma_{\bar{\alpha}\bar{\beta}} \theta^{\bar{\beta}} = \sigma_{\bar{\alpha}\beta} \theta^{\beta} + \sigma_{\bar{\alpha}n} \theta^n,$$

i.e.

$$C_i^{\hat{n}} \omega_j^i \tilde{C}_{\bar{\alpha}}^j = \sigma_{\bar{\alpha}\beta} \theta^{\beta} + \sigma_{\bar{\alpha}n} \frac{1}{\sqrt{2}} (\omega^n + \omega_n).$$

As the equality $\theta^{\hat{n}} = 0$ is equivalent to the condition $\omega_n = \omega^n = \frac{\theta^n}{\sqrt{2}}$, using the denotation $\theta = \theta^n$, we get:

$$C_i^{\hat{n}} \omega_j^i \tilde{C}_{\bar{\alpha}}^j = \sigma_{\bar{\alpha}\beta} \theta^{\beta} + \sigma_{\bar{\alpha}n} \theta.$$

Replacing θ by ω , we can rewrite this condition as follows:

1. $C_i^{\hat{n}} \omega_j^i \tilde{C}_{\bar{\alpha}}^j = \sigma_{\alpha\beta} \omega^{\beta} + \sigma_{\alpha n} \omega$;
2. $C_i^{\hat{n}} \omega_j^i \tilde{C}_n^j = \sigma_{n\beta} \omega^{\beta} + \sigma_{nn} \omega$.

So,

$$1) -\frac{i}{\sqrt{2}} \omega_{\alpha}^n + \frac{i}{\sqrt{2}} \omega_{\alpha}^{\hat{n}} = \sigma_{\alpha\beta} \omega^{\beta} + \sigma_{\alpha n} \omega,$$

or

$$\omega_{\alpha}^n - \omega_{\alpha}^{\hat{n}} = i\sqrt{2} \sigma_{\alpha\beta} \omega^{\beta} + i\sqrt{2} \sigma_{\alpha n} \omega.$$

$$2) -\frac{i}{2} \omega_n^n + \frac{i}{2} \omega_n^{\hat{n}} - \frac{i}{2} \omega_n^n + \frac{i}{2} \omega_n^{\hat{n}} = \sigma_{n\beta} \omega^{\beta} + \sigma_{nn} \omega.$$

Note that

$$\omega_n^n = -\omega_n^{\hat{n}}; \quad \omega_n^{\hat{n}} = \omega_{nn} = 0; \quad \omega_n^n = \omega^{nn} = 0,$$

and consequently,

$$\omega_n^n = i\sigma_{n\beta} \omega^{\beta} + i\sigma_{nn} \omega.$$

Let

$$\alpha = a,$$

then

$$\omega_a^n - \omega_{na} = i\sqrt{2}\sigma_{ab}\omega^b + i\sqrt{2}\sigma_a^b\omega_b + i\sqrt{2}\sigma_{an}\omega.$$

Taking into account [2] that for an arbitrary almost Hermitian structure the following conditions hold:

$$\omega_{na} = B_{na}^b\omega_b + B_{na}^n\omega_n + \tilde{B}_{nab}\omega^b + \tilde{B}_{nan}\omega^n,$$

or

$$\omega_{na} = \tilde{B}_{nab}\omega^b + B_{na}^b\omega_b + (B_{na}^n + \tilde{B}_{nan})\omega^n,$$

and considering

$$\omega^n = \frac{1}{\sqrt{2}}\omega,$$

we have:

$$\begin{aligned} \omega_{na} = & \left(\tilde{B}_{nab} + i\sqrt{2}\sigma_{ab}\right)\omega^b + \left(B_{na}^b + i\sqrt{2}\sigma_a^b\right)\omega_b \\ & + \left(\frac{1}{\sqrt{2}}B_{na}^n + \frac{1}{\sqrt{2}}\tilde{B}_{nan} + i\sqrt{2}\sigma_{an}\right)\omega. \end{aligned}$$

Let

$$\alpha = \hat{a}.$$

Then

$$\omega_{\hat{a}}^n - \omega_{\hat{a}}^{\hat{n}} = i\sqrt{2}\sigma_{\hat{a}b}\omega^b + i\sqrt{2}\sigma_{\hat{a}}^b\omega_b + i\sqrt{2}\sigma_{\hat{a}n}\omega.$$

On the other hand,

$$\omega^{na} = \tilde{B}^{nab}\omega_b + B_b^{na}\omega^b + (B_n^{na} + \tilde{B}^{nan})\omega^n.$$

As a result we get:

$$\begin{aligned} \omega_n^a = & \left(-\tilde{B}^{nab} + i\sqrt{2}\sigma^{an}\right)\omega_b + \left(-B_b^{na} + i\sqrt{2}\sigma_b^a\right)\omega^b \\ & + \left(-\frac{1}{\sqrt{2}}B_n^{na} - \frac{1}{\sqrt{2}}\tilde{B}^{nan} + i\sqrt{2}\sigma_n^a\right)\omega. \end{aligned}$$

Taking into account this formulae, we can rewrite the structural equations of the almost contact metric structure induced on a hypersurface in an almost Hermitian manifold as follows:

$$\begin{aligned} d\omega^a = & \omega_b^a \wedge \omega^b + \omega_n^a \wedge \omega^n + B_c^{ab}\omega^c \wedge \omega_b + B_c^{an}\omega^c \wedge \omega^n \\ & + B_n^{ac}\omega^n \wedge \omega_c + B^{abc}\omega_b \wedge \omega_c + B^{anc}\omega^n \wedge \omega_c + B^{acn}\omega_c \wedge \omega^n. \end{aligned}$$

Substituting the value of ω_n^a and knowing that

$$\omega^n = \frac{1}{\sqrt{2}}\omega,$$

we have:

$$d\omega^a = \omega_b^a \wedge \omega^b + B_c^{ab} \omega^c \wedge \omega_b + B^{abc} \omega_b \wedge \omega_c + \left(\sqrt{2} B_b^{an} + i\sigma_b^a \right) \omega^b \wedge \omega + \left(-\sqrt{2} \tilde{B}^{nab} - \frac{1}{\sqrt{2}} B_n^{ab} - \frac{1}{\sqrt{2}} \tilde{B}^{abn} + i\sigma^{an} \right) \omega_b \wedge \omega.$$

Similarly,

$$d\omega_a = -\omega_a^b \wedge \omega_b + B_{ab}^c \omega_c \wedge \omega^b + B_{abc} \omega^b \wedge \omega^c + \left(\sqrt{2} B_{an}^b - i\sigma_a^b \right) \omega_b \wedge \omega + \left(-\sqrt{2} \tilde{B}_{nab} - \frac{1}{\sqrt{2}} \tilde{B}_{abn} - \frac{1}{\sqrt{2}} B_{ab}^n - i\sigma_{ab} \right) \omega^b \wedge \omega.$$

In conclusion, we obtain the third equation of Cartan structural equations. Taking into account the above mentioned relationship $\omega^n = \frac{1}{\sqrt{2}} \omega$, we get:

$$\frac{1}{\sqrt{2}} d\omega = d\omega^n = \omega_a^n \wedge \omega^a + \omega_n^n \wedge \omega^n + B_b^{na} \omega^b \wedge \omega_a + B_n^{na} \omega^n \wedge \omega_a + B^{nab} \omega_a \wedge \omega_b + B^{nbn} \omega^n \wedge \omega_b + B^{nbn} \omega_b \wedge \omega^n.$$

Substituting the formulae for ω_a^n, ω_n^n and ω^n , we can conclude:

$$d\omega = \sqrt{2} B_{nab} \omega^a \wedge \omega^b + \sqrt{2} B^{nab} \omega_a \wedge \omega_b + \left(\sqrt{2} B_b^{na} - \sqrt{2} B_{nb}^a - 2i\sigma_b^a \right) \omega^b \wedge \omega_a + \left(\tilde{B}_{nbn} + B_{nb}^n + i\sigma_{nb} \right) \omega \wedge \omega^b + \left(\tilde{B}^{nbn} + B_n^{nb} - i\sigma_n^b \right) \omega \wedge \omega_b.$$

So, we have proved the following theorem.

Theorem. *The Cartan structural equations of an almost contact metric structure induced on a hypersurface in an almost Hermitian manifold are the following:*

$$\begin{aligned} d\omega^a &= \omega_b^a \wedge \omega^b + B_c^{ab} \omega^c \wedge \omega_b + B^{abc} \omega_b \wedge \omega_c \\ &+ \left(\sqrt{2} B_b^{an} + i\sigma_b^a \right) \omega^b \wedge \omega + \left(-\sqrt{2} \tilde{B}^{nab} - \frac{1}{\sqrt{2}} B_n^{ab} - \frac{1}{\sqrt{2}} \tilde{B}^{abn} + i\sigma^{an} \right) \omega_b \wedge \omega; \\ d\omega_a &= -\omega_a^b \wedge \omega_b + B_{ab}^c \omega_c \wedge \omega^b + B_{abc} \omega^b \wedge \omega^c \\ &+ \left(\sqrt{2} B_{an}^b - i\sigma_a^b \right) \omega_b \wedge \omega + \left(-\sqrt{2} \tilde{B}_{nab} - \frac{1}{\sqrt{2}} \tilde{B}_{abn} - \frac{1}{\sqrt{2}} B_{ab}^n - i\sigma_{ab} \right) \omega^b \wedge \omega; \\ d\omega &= \sqrt{2} B_{nab} \omega^a \wedge \omega^b + \sqrt{2} B^{nab} \omega_a \wedge \omega_b + \left(\sqrt{2} B_b^{na} - \sqrt{2} B_{nb}^a - 2i\sigma_b^a \right) \omega^b \wedge \omega_a \\ &+ \left(\tilde{B}_{nbn} + B_{nb}^n + i\sigma_{nb} \right) \omega \wedge \omega^b + \left(\tilde{B}^{nbn} + B_n^{nb} - i\sigma_n^b \right) \omega \wedge \omega_b. \end{aligned}$$

Remark that the obtained Cartan structural equations of an arbitrary al-

most contact metric structure on a hypersurface in an almost Hermitian manifold generalize the corresponding results for some almost contact metric structures of special type (see, for instance, [3, 4, 5, 17]).

References

- [1] V.I. Arnol'd, *Mathematical Methods of Classical Mechanics*, Springer-Verlag, Berlin-Heidelberg-New-York (1989).
- [2] O.E. Arsen'eva, V.F. Kirichenko, Self-dual geometry of generalized Hermitian surfaces, *Mat. Sbornik*, **189**, No. 1 (1998), 21-44, In Russian.
- [3] M. Banaru, On six-dimensional Hermitian submanifolds of Cayley algebra satisfying the G-cosymplectic hypersurfaces axiom, *Annuaire de l'Universite de Sofia "St. Kl. Ohridski"*, **94** (2000), 91-96.
- [4] M. Banaru, Two theorems on cosymplectic hypersurfaces of six-dimensional Hermitian submanifolds of Cayley algebra, *J. Harbin Inst. Techn.*, **8**, No. 1 (2001), 38-40.
- [5] M. Banaru, On minimality of a Sasakian hypersurfaces in a W_3 -manifold, *Saitama Math. J.*, **20** (2002), 1-7.
- [6] D.E. Blair, *Contact Manifolds in Riemannian Geometry*, Lect. Notes Math., **509** (1976), 1-145.
- [7] A. Gray, L.M. Hervella, The sixteen classes of almost Hermitian manifolds and their linear invariants, *Ann. Mat. Pura Appl.*, **123**, No. 4 (1980), 35-58.
- [8] N. Hurt, *Geometric Quantization in Action*, Reidel Publishing Company, Dordrecht-Boston-London (1983).
- [9] K. Kenmotsu, A class of almost contact Riemannian manifolds, *Tôhoku Math. J.*, **24** (1972), 93-103.
- [10] V.F. Kirichenko, On geometry of Kenmotsu manifolds, *DAN Math.*, **380**, No. 5 (2001), 585-587, In Russian.
- [11] V.F. Kiritchenko, Sur la géométrie des variétés approximativement cosymplectiques, *C.R. Acad. Sci. Paris, Ser. 1*, **295**, No. 12 (1982), 673-676.
- [12] S. Kobayashi, K. Nomizu, *Foundations of Differential Geometry*, Interscience, New-York-London-Sydney (1969).

- [13] H. Kurihara, The type number on real hypersurfaces in a quaternionic space form, *Tsukuba Journal Math.*, **24** (2000), 127-132.
- [14] H. Kurihara, R. Takagi, A note on the type number of real hypersurfaces in $P_n(C)$, *Tsukuba Journal Math.*, **22** (1998), 793-802.
- [15] S. Sasaki, *Almost Contact Manifolds*, Lect. Notes Math., **1** (1965).
- [16] L.V. Stepanova, Contact geometry of hypersurfaces of quasi- Kählerian manifolds, *MSPU*, Moscow (1995), In Russian.
- [17] L. Stepanova, M. Banaru, On hypersurfaces of quasi-Kählerian manifolds, *An. Stin. Univ. "Al. I. Cuza". Iasi.*, **XLVII**, No. 1 (2001), 165-170.